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@ XRD2RAEXZTHMELILN,
D (x—3)(x—4)=0 @ x+7(x—5)=0
X=3, x=4 Xx=—19, X=5
@ x—1DKx+2)=0 @ (x+4)x+9)=0
x=—2, x=1 X=—9, x=—4
® x(x—6)=0 ® x(x+3)=0
Xx=0, Xx=6 x=—3, x=0
@ (x+4)?2*=0 (x—8)*=0
X=—4 X=8



C—15 2XAERD

i

@ XD2RAEBAEMELTSLY,

D x*—5x=0
x(x—5)=0
Xx=0, x=5

@ 3x*+9x=0
3x(x+3)=0

x=—3, x=0

® x*>—1=0
x+1(x—1)=0

Xx= =1

@D x*—36=0
(x+6)(x—6)=0

X==*6

@ x*+2x=0
x(x+2)=0
Xx=—2, x=0

@ x*=17x
x2—T7x=0
x(x—=7)=0
x=0, x=7

® x*—64=0
(x+8)(x—8)=0

X= =8

x>—81=0
x+9)(x—9)=0

X= =9
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@D x*+5x+4=0
x+4)(x+1)=0
X=—4, x=—1

@ x*—4x—21=0
x+3)(x—7)=0
Xx=—3, x=17

® x*+3x=10
x*+8x—10=0
(x+5)(x—2)=0
X=—5, x=2

@ x*=3x+ 54
x?—8x—54=0
(x+6)(x—9)=0
X=—6, x=9

@ x*—5x+6=0
(x—2)(x—38)=0

X=2, Xx=3

@ x*+x—30=0
(x+6)(x—5)=0
X=—6, X=5

® x*—4x=132
x2—4x—82=0
(x+4)(x—8)=0
X=—4, x=8

x>=11x— 28
x2—11x+28=0
x—4)(x—7)=0

XxX=4, x=17
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@ RD2RABARZEZHBETLTILY,
D x>+ 6x+9=0
(x+3)2=0
Xx=—3

@ x?—12x+36=0
(x—6)2=0
X=6

® x?+ 14x= — 49
x?+ 14x+49=0
(x+7)?%=0
Xx=—19

@D x*=—4x—4
2+ 4x+4=0
(x+2)?%=0
X=—2

@ x*+8x+16=0
(x+4)%2=0
X=—4

@ x*—2x+1=0
(x—1)%=0
x=1

® x*—10x= —25
x2—10x+25=0

(x—5)2=0
x=25
x>=18x— 81
x2—18x+81=0
(x—9)?=0

X=9
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RD2RABKEMBELGIN,
x>=17
X= i\ﬁ
x>—8=0
x*=8
x=i2\/§
(x—4)*=6
x—4=*\[6
x=4i\/§
(x+2)*=4
X+2==x2

Xx=—4, x=0

® (x+1)72*=5
X+ 1= i\/g

x=—1i\/g

(x—3)*=12
x— 3= +2./3
x=3+2\/3
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@ RD2RABAZEMETEILY,

@D 3x*+9x+4=0

_ —9+4/92—4X3X4

X= 2X3

—9++/33
=%

@ 2x*—5x—3=0

_ —(=5)£\(—=5)2—4x2X(—3)
X= 2X2

® x*—2x—10=0

X:—w—z)iVO—m2—4x1x(—1m

2X1

x=1=%+/11

@ x*+7x—5=0

_ = 7#72—4X1X(=5)
X= 2X1

—7+4/69
X="gy

@ 9x*+3x—2=0

_ —3%4/32—4x9X(—2)
X= 2X9

| Do

_1
X—3, X=

® 4x*—8x+1=0

_ —(—8)+4[(—8)2—4axax1
X= 2X4

2443
=79
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@ XRD2RABXEMETLILN,
D x*—x=10
Xx2—x—10=0

—(—1)£(—1)2—4X1X(—10)
X= ax1

1++/41
x="%

@ 10x*+8x—8=0
Bx2+4x—4=0

_ —4FN42—4aXx5X(—4)
X= 2X5

_ —2+2/6
-~ 5

X

® (x—1)*—25=2x+38

x?—2x+1—25=2x+8
x?—4x—32=0
(x+4)(x—8)=0
X=—4, x=28

@ x(x+1)=2
X2+ x=2
x*+x—2=0
(x+2)(x—1)=0

x=—2, x=1

@ (x+1)*+4x=0

X2+ 2Xx+1+4x=0

X2+ 6x+1=0
_ —6x/62—4x1X1
X= 2x1
X= —312\/§

® 6x+ (x+3)(x—3)=—18
6x+x>—9=—18
x>+ 6x+9=0
(x+3)*=0
XxX=—3



